REVISION- Solve the word-sums: 1. A bull has 4 legs. How many total legs will 25 bulls
have? a) 105 b) 110 c) 100 d) 200

2. A number becomes double when it is increased by 3. What is that number?
a)10 b) 6 c)8 d)3

3. A labourer eams Rs 150 in a day. How much will he earn in 8 days?
a) 1150 b) 1100 c) 1050 d) 1200

4. 0One bus can carry 35 children. How many children can three buses carry"
a) 95 b) 205 c) 105 d) 115

5. Sikander started gaming on the mobile at 12:05 am. He played for 1 hour 05 minutes. At
what time did his game end?
a) 2:05 pm b) 1:10 pm c) 12:05 am d) 1:25 pm

6.1 gave two toffees each to six of my friends and seven toffees are left with me. How many
total toffees did | have?
a) 29 b) 20 c) 15 d) 19

7. Mala had 16 litres of milk at home. How many bottles of 2 litres can be filled by that milk?
a)9 b)_10 c) 32 d) 8

8. If the cost of 1000 bricks is Rs 3200. How much total money will%ﬁw%mETs



